

### Florida Department of Transportation



**Vendor Ranking** 

Page 1 of 1

**Letting:** 01240418 April 18, 2024 11:00 AM **Call Order:** 005 **Contract:** E1X07-R0

District: District 1 Counties: DIST/ST-WIDE, LEE Fed Aid No: N/A

Contract Time: 365 CALENDAR DAYS

Project(s): 43272927210 (\*)

Contract Desc: Non-paved Shoulder Repair/Slope & Bahia Sod

| Ran | k Vendor                                     | Bid Type   | Bid Status      | Total Bid    | Percent Of<br>Low Bid |
|-----|--|------------|-----------------|--------------|-----------------------|
| 1   | T & M LAWN-FENCE SERVICE INC                 | Responsive | Winning bid     | \$318,977.12 | 100.00%               |
| 2   | HIGHER GROUND LAND SERVICES, LL              | Responsive | Non-Winning Bid | \$430,514.97 | 134.97%               |
| 3   | MIDWESTERN CONSTRUCTION, INC                 | Responsive | Non-Winning Bid | \$473,212.42 | 148.35%               |
| 4   | ROGAR MANAGEMENT & CONSULTING OF FLORIDA LLC | Responsive | Non-Winning Bid | \$515,326.87 | 161.56%               |
| 5   | SUPERIOR LANDSCAPING & LAWN SE               | Responsive | Non-Winning Bid | \$811,887.26 | 254.53%               |

NOTE: Failure to file a protest within the time prescribed in section 120.57(3), Florida Statutes, or failure to post the bond or other security required by law within the time allowed for filing a bond shall constitute a waiver of proceedings under chapter 120, Florida Statutes.



Page 1 of 4

### Florida Department of Transportation



# **Tabulation of Bids**

**Letting:** 01240418 April 18, 2024 **Call Order:** 005 **Contract:** E1X07-R0

District: District 1 Counties: DIST/ST-WIDE, LEE Fed Aid No: N/A

Contract Time: 365 CALENDAR DAYS

Project(s): 43272927210 (\*)

Contract Descr: Non-paved Shoulder Repair/Slope & Bahia Sod

The work under this Contract consists of Non-paved Shoulder Repair/Slope & Bahia Sod.

| Line No / Item ID                                  | Alternate Quantity Units | (1) T & M LAWN-FENCE<br>SERVICE INC |                | (2) HIGHER GROUND LAND<br>SERVICES, LL |              | (3) MIDWESTERN<br>CONSTRUCTION, INC |              |
|--|--------------------------|-------------------------------------|----------------|--|--------------|-------------------------------------|--------------|
| ( ) indicates item is bid as Lu                    | mp Sum                   | Unit Price                          | Ext Amount     | Unit Price                             | Ext Amount   | Unit Price                          | Ext Amount   |
| SECTION: 0001                                      | (REPAIRING N             | NON-PAVED SHLD                      | RS (MANUAL) (S | Υ                                      |              |                                     |              |
| 0005 E570 5<br>FERTILIZER                          | 4.000<br>TN              | 1.00000                             | 4.00           | 1,000.00000                            | 4,000.00     | 600.00000                           | 2,400.00     |
| 0010 E570 9 1<br>WATER FOR GRASS & PLA             | 1,683.121<br>NTS MG      | 1.00000                             | 1,683.12       | 8.00000                                | 13,464.97    | 20.00000                            | 33,662.42    |
| 0015 E575 1 8<br>SODDING, BAHIA                    | 70,000.000<br>SY         | 2.40000                             | 168,000.00     | 4.00000                                | 280,000.00   | 3.50000                             | 245,000.00   |
| 0020 E575 2<br>SOIL LAYER MATERIAL- IM<br>MATERIAL | 400.000<br>PORTED CY     | 20.00000                            | 8,000.00       | 30.00000                               | 12,000.00    | 20.00000                            | 8,000.00     |
| 0025 E577 70<br>SHOULDER REWORK                    | 51,000.000<br>SY         | 1.99000                             | 101,490.00     | 1.55000                                | 79,050.00    | 1.65000                             | 84,150.00    |
| 0030 E577 70 2<br>REWORKING UTILITY STRI           | 20,000.000<br>PS SY      | 1.99000                             | 39,800.00      | 2.10000                                | 42,000.00    | 5.00000                             | 100,000.00   |
| 0001 REPAIRING NON-PA<br>SHLDRS (MANUAL            |                          |                                     | \$318,977.12   |  | \$430,514.97 |                                     | \$473,212.42 |



# Florida Department of Transportation

04/18/2024

Page 2 of 4

# **Tabulation of Bids**

Letting: 01240418 April 18 2024 Call Order: 005 Contract: F1X07-R0

|   | Letting:                        | 01240418             | April 18, 2024        | C          | all Order: 005       |            | Contract:             | E1X07-R0   |                         |
|---|---------------------------------|----------------------|-----------------------|------------|----------------------|------------|-----------------------|------------|-------------------------|
| ı | Line No / Item<br>Item Descript |                      | ate Quantity<br>Units | \ <i>\</i> | AWN-FENCE<br>ICE INC | • •        | ROUND LAND<br>CES, LL | • •        | WESTERN<br>RUCTION, INC |
|   | () indicates item               | n is bid as Lump Sun | n                     | Unit Price | Ext Amount           | Unit Price | Ext Amount            | Unit Price | Ext Amount              |
|   |                                 | Contract (           | Grand Totals:         |            | \$318,977.12         |            | \$430,514.97          |            | 473,212.42              |



Page 3 of 4

# Florida Department of Transportation



# **Tabulation of Bids**

0 H 0 L 005

| Lettin  | <b>g</b> : 01240418                           | April 18, 2024                               | Call           | Order: 005                            |             | Contract:    | E1X07-R0   |            |
|---|---|--|----------------|---------------------------------------|-------------|--------------|------------|------------|
| Line No / Item ID Alternate Quantity Item Description Units |   | (4) ROGAR MANAGEMENT & CONSULTING OF FLORIDA |                | (5) SUPERIOR LANDSCAPING<br>& LAWN SE |             |              |            |            |
| ( ) in  | dicates item is bid as Lump Sum               |  | Unit Price     | Ext Amount                            | Unit Price  | Ext Amount   | Unit Price | Ext Amount |
|   | SECTION: 0001                                 | (REPAIRING N                                 | ON-PAVED SHLDR | RS (MANUAL) (S                        | Υ           |              |            |            |
| 0005<br>FERTIL  | E570 5<br>IZER                                | 4.000<br>TN                                  | 0.01000        | 0.04                                  | 1,800.00000 | 7,200.00     |            |            |
| 0010<br>WATEF   | E570 9 1<br>R FOR GRASS & PLANTS              | 1,683.121<br>MG                              | 0.01000        | 16.83                                 | 60.00000    | 100,987.26   |            |            |
| 0015<br>SODDII  | E575 1 8<br>NG, BAHIA                         | 70,000.000<br>SY                             | 3.89000        | 272,300.00                            | 5.69000     | 398,300.00   |            |            |
| 0020<br>SOIL LA<br>MATER                                    | E575 2<br>AYER MATERIAL- IMPORTED<br>IIAL     | 400.000<br>CY                                | 33.00000       | 13,200.00                             | 69.00000    | 27,600.00    |            |            |
| 0025<br>SHOUL   | E577 70<br>DER REWORK                         | 51,000.000<br>SY                             | 2.11000        | 107,610.00                            | 3.80000     | 193,800.00   |            |            |
| 0030<br>REWO  | E577 70 2<br>RKING UTILITY STRIPS             | 20,000.000<br>SY                             | 6.11000        | 122,200.00                            | 4.20000     | 84,000.00    |            |            |
| 0001  | REPAIRING NON-PAVED S<br>SHLDRS (MANUAL) (SY) | ection Totals:                               |                | \$515,326.87                          |             | \$811,887.26 |            |            |

Contract Grand Totals: \$515,326.87 \$811,887.26



### Florida Department of Transportation

04/18/2024

### **Tabulation of Bids**

Page 4 of 4

**Letting:** 01240418 April 18, 2024 **Call Order:** 005 **Contract:** E1X07-R0

NOTE: Failure to file a protest within the time prescribed in section 120.57(3), Florida Statutes, or failure to post the bond or other security required by law within the time allowed for filing a bond shall constitute a waiver of proceedings under chapter 120, Florida Statutes.